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(1)

(i)

(iii)

ALL QUESTIONS ARE COMPULSORY 9! g3 aferard )

Candidates are required to give their answers in their own words as for as practlmble

Tdereff JumHHaT v vl ¥ & 9w
Figures in the margin indicate full marks. SUTd & & Yuife fafde & €|

GENERAL INSTRUCTIONS : 9THTI fAder
This question paper contains two parts A and B
TE Y3 UF < A 3 R g H faifrd B
All parts of question should be attempted at one place.
A AT 3 va g 94 st & o aiftard @
All Parts of question should be attempted at one place.
febft ot 91T BT T IR T & W R <

Part - A
fr=foRad 4 9 B 91 S eR] G § |

\
|
Which is the following is non-profitable organisation. ;
(i) ARYve arferfaer qﬁ'ﬁ (Jharkhand Academic Council) ‘

\

\

i

(ii) TTCT WA (Tata Steal)
(i) TR SU0SAT (Air India) (iv) SWRIE I (All of the above)

el Tl @ orTTa ¥ AR B9 & ov—g1 @1 Mo e ST 2

(In the absence of any agreement the profits and losses of the firm are shared
(i) MR- (Equally)

a1l Fed 31 AERR @ 9 R 9 < v W B R 9 @ g s

(The executors will be paid interest on the amount due from the date of death pf the
partner (@) ‘
(i) 4% p.a (ii) 5% p.a (iii) 6% p.a (iv) 7'% p.a

a1 e fbd T e b g i fr o wer & 2 afe & o o @ g A w

HfereheH B¢ fhae & o1 Fepell ® ?

(Can forfeited share be reissued ? If yes, what is the maximum discount that q an be

allowed on re-issue of shares ?

AWBW%éwmﬁvﬂmaza%aquﬁW%ﬁcaﬁﬂﬁm
o H 1/5" AT @ fY Ja9 I € | T ARSI SUrd @1 IO IR |

(A and B are partners sharing Profits in the ratio 3:2. They admitted C as a ne
for 1/5"™ share in the profit. Calculate the new profit sharing ratio. )

FO-0A BT FEIRIaE Ffofa & wu # frfe @ @ aend §)

(What is meant by issue of Debentures as collateral security? )
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(ii) llﬁ'ﬁ D 3fgurd H (In capital R‘ tio)
(iii) fafr=1 (ﬂj‘ﬂ?ﬁ ¥ (In different proportion) (iv) 37175( q aﬁé Tel (None of thest

b w9 A

v partne
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12.

- WY B Sfie v A Rl o9 arell SUHNT B TS <ar @) 1 ST Dl

|

(Find out the amount of medicine consumed to be shown on the debit side of Income of

Expenditure Account. )

Items (7<) 01.04.2017  01.04.2018|
Rs. Rs.
QAT @I ¥ld (Stock of Medicines) 1,75,750 1,44,650

2qT & folU oFER (Creditors for Medicines) ~ 15:06,900  18,20,700
a¥ 201718 H AT & Y 0 60,80,700 /—
Medicines purchased during the year 2017-18 Rs. 60,80,700

IHIAT AT UG A AT § e fBRT |

(Distinguish between calls in arrear and calls in advance.)

0 5 i 3 (2/— Niftw i) aded o1 qaH T8 R 9 W X . 7 o[ 10 el

1000 37 (%0 & o) &7 &X0T R foram T | g7 ¥ 800 3 0 7 WY I B G
e dog & g9 G R W Sea @ afaftedt Sifvi |
X Ltd. forfeited 1,000 shares of Rs. 10 each (called —up) for the non-pay

R I %08

ment of] the

allotment money of Rs. 5 per share including Rs. 2 as premium of these 800 ghares were
re-issued to Sanjay at Rs. 7 per share Rs. 8 called-up. Give journal entries in the books of

X Ltd.

TH FA A Th 46 W WO 2,00,000 BT FOT foram AR §F & U WO 250,000 B ROIH

wers gieyfa & wu § v | Rwrsd 6 3 e facer 4 fow yer fear
A Company took a loan of Rs. 200000 form a Bank and placed with the Ban
for Rs. 2,50,000 as collateral securities. Show how they will appear in the
Balance-Sheet.

THU UH BF H ARER & | G 31 W, 2018 B @A ay H f IRl SmeRd ol —

debentures
company’s

Tarun is a partner in a firm. He withdrew the following amounts during the Yjear ended

31 Mar. 2018
0

1 el 2017 (1 July, 2017) 20,000
31 R 2017 (31 Aug. 2017) 40,000
1 JFFR 2017 (1 Oct. 2017) 10,000
1 SR 2018 (1 Jan. 2018) 5,000
1 ATE 2018 (1 Mar. 2018) 5,000
31 W1 2018 (31 Mar. 2018) 10,000

AMERYT TR 12 AT arfiiep <aToT SR SITe & | SATeR0T R &7l ! VT DHifory |

Interest on drawing is to be charged @ 12 % p.a. calculate interest on drawinEs.
I=H

A.BTd C UF BH ¥ QEIER & O ol &l I U ¥ died 8| 1 3, 2017

qfsy § oM @7 532 B U § died @1 fofg forn| g9 ffy @1 el e

femam T 7|
A, B and C are partners in a firm sharing Profits equally. They decided t¢

share their

future profits in ratio of 5:3:2 with effect from 1% April, 2017. On that date the following

revaluation have done.

7
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Particulars gﬁaﬁq 1 T
(Book Value) (Revised Value
. Rs. Rs.
4 T 9d (Land & Buildings) 90000 50000
TR (Machinery) 80000 10000
B (Furniture) 20000 16000
I3 (Investment) 40000 50000
fafder ISR (Sundry Debtors) 30000 D6000
fafayr IR (Sundry Créditors) 20000 18000

R TR e @ e e @ oRe T e e § g Rl @
ARG YRRe & g7 SHferRad FRAT dTed & | avdd HriER) el & el el yfaf

IR |

Partners do not want to change the book values of the assets & Liabilities butfwant to

record the change by passing one adjustment entry. Pass Journal entry

&3

P T T S @R ¥ 31 A, 2016 BT TG B Tl 9§ @ forg s @l 6
ERIENY
(From the following Receipts & Payments Account prepare an Income & Expenditure
Account for the year ended 31 Mar. 2016.
Liability i Ar(nI;)sl;nt Assets Allnount (Rs)
To Y (Balance) (01.04.15) 6700 By. qaH (Salaries) 2600
QI (Donation) 6000 Epl] (Rent) 1200
Ll {Subscriptions) 10000 Wfé (Printing) 300
GRIR] (Legacies) 2500 P G (Postage) 100
&9l (Interest) 75 fasmu (Advertising) 250
faferamr (Investments) \ 8000
99 (Balance) 31.03.16 | 12,825
25,2775 258.275

e 9T T e 5:3:2 U # I dfen dtel WISER €| 31 AT, 2007 e HaFrE 6

TRU BRAT ¥ o GRS @ a8 S o PR W0 1,50,000 3R W0 1,00
qoT §% # 99 31 WG, 2017 BT 0 60,000 T | ATe], B TG A febaT ST & |

000 off || g
ofle] TRT Tef

TTe IR 9 PR oidy A 5 AT ok §b &1 YA W wo 10,000 T W& AR AL
o e A U 9% W aud 32 ¥ | AW WERR| Ry oA T Fee Ry i T

FIRTT T4 Maege Sl ) mfafedr Sifog |

Lalu. Balue and Chalu were Partners sharing profit and losses in the ratio ¢

f 5:3:2,/Balu
Rs. 200000,

retires on 31 March 2017, when their capitals after all adjustments stood a

amounted to Rs. 60,000. Balu was to be paid through cash brought in by
in such a way that a minimum cash of Bank balance of Rs. 10,000 was to

150000, and Rs. 100000 respectively. The cash and Bank balance on }} Mar. 2017
|

lu and chalu
¢ maintained

and capitals of Lalu and Chalu to be in proportion to their new profit sharirlg ratio of 3:2

calculate the amount brought in by new partners & pass Journal entry. |
3 |

P
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R od o RS J 1 T 2014 3T 8800000 8 FRTE FU-TH FAB F0 50
yfrera Hiftem w A f6d o 90 W O & aRax §RT 30 S, 2018
0 20 arer afE ¥ w0 2 ufer ofy MR W Mg O | FO-wA & R gd A

NICEEED yfafteal |
Rishi & Jeet Ltd. issued 88,00,000, 8% Debentures of Rs. 50 each at a pre
on July 2018 redeemable at par by conversion of debenture into shares of R

a premium of Rs. 2 per share on June 30, 2018. Record necessary Journal

issue and redemption of debentures.

|$r5
CARCRIC

>

H & foru

um of 5 %
20 each at
entries| for

ATITB U6 BH § SR $ WISER § | 31 H7E, 2018 B SA C Bl 1/3 R gy g
AT S Al B W @ feer e 2
A & B were equal partners in a firm they admit C for 1/3 share in profit. On 31 Mar.
2018. On the same date the firm’s Balance sheet was as follows :-
Liability Amount Assets Amount
Toll @ (Capital A/C.s) TR (Machinery) 18000
A 20,0000 IR (Furniture) 15000
B 15,000 35000 R (Stock) 12600
AMG G99 (General Reserve) 40000 TSR (Debtors) 30600 29000
Herl w94, (1600)
(Provision)
HHARI afergfct Py 15000 T faet (B/R) 2400
(Workmen’s Compensation
Fund)
fafermr I DY 8000 AHS (Cash) 13000
(Investment Fluctuation Fund)
ATER (Creditors) 10000 A (Profit & Loss 8000
A/C)
g fIa (B/P) 2000 fdsTos WIAT (Advertisement 12000
Suspense A/C)
| 1,10,000 1,10,000

C & yau R 1 Il W e g

(At the time of C’s adinission following terms were agreed upon)

(i) TH BT o3 B0 2400 ¥ I31AT S | (The Value of Stock to be increased By Rs.

2400.)

(i1) dfewy ko & fofv yraeme |0 1200 d6 fohar 9T | (Provision for doubtfu] debts to be

decreased to Rs. 1200)

(iii) SUDY BT g ™0 3200 ¥ UTRT 9 | (The value of furniture be decreaged by R

3200)

(iv) FHAR! Hﬁf{ﬁ @1 <RI W0 18000 81 & FWIEAT & | (The liability for wérkmen’s

compensation expected to be Rs. 18000)

(v)C @ gRT o Ry @ f 15,000 it o 10,000 M FhE § A WG

7l@

[72]
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(C will brings Rs. 15000 as capital and Rs. 10000 as his hare of Goodwill in cgsh.)

ST e T, AR & o @ e 8 wH @1 e fieon qar

(You are required to prepare Revaluation A/C, Partner’s capital Accounts, and Balance-

sheet of the new firm.)

fRY Y. 3 0 10 aTel 1,00,000 THAT 37T B w0 2 NATH W S 3ded W <F &, [aT

il v & forg fawaor faam | ™ M= &1 (Nero Litd. invited the public

100,000 equity shares of Rs. 10 each at a premium of Rs. 2 per share payabl
allotment. Payment to be made as follows) :

37de W (On application) Rs. 2

3rded W (On allotment)  Rs. 6

UM T4 3ffoH AT (on first & final call 9 AR (balance amount)

80,000 313 & oY arrde = fivem T/ # T T4 5000 I W AT Bl BIEHR AY WS

TG &S | $% ofd @) foraT T |

(Application were received for 80,000 shares, call was made and all the mongy were

received except on 5000 shares, which were forfeited. )

o gfafie € (Give Journal entries)

: Part- B
fRefyy faavor 8 — (Balance-Sheet is a)
(i) 9Idl (Account) (ii) fqaxor (Statement)
(iii)a T b (Both ‘a’ and ‘b’) (iv) SIRIG T4 (All the above)

YRS T & — (Preliminary expenses is )
(1) HIUH FHRT (Fictitious Assets) (ii) Ay FHfl (Intangible Assets

(iii) ﬂﬁiﬂ@ﬁ (Current Assets) (iv) 371%-! q ?fﬁ?f BEl (None of these
ABC Lid. @ Frfofad am—aify Raxor ¥ 31 A1, 2017 T 2018 & AT &l a¥ &

fory qormTcd T faRy) dar HIfvg |

From the following statement of profit & Loss of A B C Ltd. for the years ewded on 31°

March, 2017 and 2018. Prepare a comparative income statement.

AT R |

t0 subscribe
elon

Ay

Particulars Note No. | 2017-18 || 2016-17

JaTeT ¥ 3T (Revenue from operation) 300000 || 200000

HHaN 20 9 (Employee Benefit expenses) 60000 50000

g Y (Other expenses) 40000 50000

8l (Depreciation) 50000 20000
i
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<d (Given)
] 3UTd (Current Ratio) 25
IFI-IRY U (Acid-test Ratio)  1:1
91 <R (Current Liabilities) Rs. 250,000
31T I (Find out)

(i) @re WHRIEAT (Current Assets)

(i1) Xl Fefrt (Liquid Assets)

(iii) 39U (Inventory)

farferad gammi & Vas yare fAare qar i -

(From the following informations, prepare cash flow statement.)

Hs BT YRS A9 (Opening Balance of cash)

Jhe BT AfaH A9 (Closing Balance of cash)

THe H HH (Decrease in Stock)

RE <Fd@el H gfg  (Increase in Trade Payables)

el el @) fdml (Sale of fixed Assets)

TR P a0 (Refund of Tax) :

RS Y IuferRad fhd U (Preliminary expenses written off)
SEPTA FOI B A (Payment of long term Laon)

ag o Y& o™ (Net profit for the year)

SIREASCI R UNIN] fBar  (Income tax paid)

7@ §€

18,000

Rs.
25,00(
65,000]

22,000
40,000

2,000
15,000
60,000
12,000

5,000




